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WALK - IN - TEST - 2 
 

1. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

A. A student instead of multiplying a number by 
8

9
, divided it by 

8

9
 by mistake. If the 

difference between the answers got by him is 34, find the number. 

xU khztu;> Xu; vz;iz 
8

9
My; ngUf;Ftjw;Fg; gjpyhf> jtWjyhf 

8

9
My; tFj;J 

tpl;lhu;. mtUf;Ff; fpilj;j tpilf;Fk;> rupahd tpilf;Fk; cs;s tpj;jpahrk; 34 
vdpy;> me;j vz;izf; fhz;f. 
Solution: 
Let x be the required number. 

The student had to find 
8

9

x
but, 

 he had found 
8

9

x
 , that is 

9

8

x
 

 Now, 
9

8

x
− 

8

9

x
= 34  

    
81 64

72

x x
 = 34 

17

72

x
= 34 

     x = 
34 72

17


 = 144 

 
B. An equilateral  triangle is described on the diagonal of a square.  What is the ratio of 

the area of the triangle to that of the square? 
xU rJuj;jpd; %iy tpl;lj;jpd; kPJ xU rkgf;f Kf;Nfhzk; tiuag;gl;Ls;sJ. 
rJuj;Jld;> Kf;Nfhz gug;gstpd; tpfpjk; ahJ? 
Solution: 
area of a square = a2  sq.units 

length of the diagonal = 2 a units 

length of the diagonal = Side of the equilateral triangle = 2 a  units 

area of an equilateral triangle = 23

4
a  
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    =
3

4
 ×  

2

2 a  

required ratio = 
3

4
 ×  

2

2 a  : 2 3a  : 2 

  
2. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 

A. A two digit number is seven times the sum of its digits. The number formed by 
reversing the digits is 18 less than the given number. Find the given number. 
xU <upyf;f vz;zpd; kjpg;G mjd; ,yf;fq;fspd; $Ljy; Nghy; 7 klq;F cs;sJ.  
,yf;fq;fis ,lkhWjy; nra;a fpilf;Fk; vz; nfhLf;fg;gl;l vz;iztpl 18 
FiwT vdpy;> mt;ntz;izf; fhz;f. 
Solution: 
Let the ten's digit be x and the unit's digit be y  

Then, number = 10x + y 
∴   10x + y=7(x + y) 
3x = 6y 
 x = 2y 
Number formed by reversing the digits = 10y + x 
∴ (10x + y) − (10y + x)=18 
   9x − 9y=18 
x – y = 2 
2y – y = 2 
y = 2 
So, x = 2y = 4 
Hence, 
∴ Required number 
= 10x + y 
= 40 + 2 
= 42 

 
B. A heap of paddy is in the form of a cone whose diameter is 4.2 m and height is 2.8 m. 

If the heap is to be covered exactly by a canvas to protect it from rain, then find the 
area of the canvas needed. 
Neu;tl;l $k;G tbtpy; Ftpf;fg;gl;l new;Ftpaypd; tpl;lk; 4.2 kP kw;Wk; mjd; cauk;   
2.8 kP. vd;f.  ,e;new;Ftpaiy kioapypUe;J ghJfhf;f fpj;jhd; Jzpahy; kpfr; 
rupahf %lg;gLfpwJ vdpy;> Njitahd fpj;jhd; Jzpapd; gug;igf; fhz;f. 
Solution: 
Height is 2.8 m and diameter is 4.2m ; r = 2.1 m  

 Calculation of slant height, l = 2 2r h  

   = 2 22.1 2.8 m 

   = 4.41 7.84 m 

   = 12.25  m 

   = 3.5 m 
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 To cover the heap of paddy completely we need to cover it from  all curved sides 
as well as from top as well as to bottom. 

Lateral surface area of the cone = rl  sq.units 
   =  × 2.1 × 3.5 m2 
   = 7.35  m2 
   = 23.079 m2 

   = 23.1 m2 (approximately). 
 

3. The sum of the numerator and denominator of a fraction is 12. If the denominator is 

increased by 3, the fraction becomes 
1

2
 . Find the fraction. 

xU gpd;dj;jpd; gFjp kw;Wk; njhFjpapd; $Ljy; 12. mg;gpd;dj;jpd; gFjpAld; 3If; 

$l;bdhy; mjd; kjpg;G 
1

2
MFk; vdpy;> mg;gpd;dj;ijf; fhz;f. 

Solution: 

Let the required fraction be 
x

y
. Then, 

 x + y   = 12  ……(1) 

 And, 
1

3 2

x

y



 

 2x – y = 3   …….(2) 
 On adding (1) and (2), we get, 
 x = 5 
 On putting x = 5 in equation (1), we get, 
 y = 7 

 Therefore, the required fraction is 
5

7
. 

 
4. The perimeter of a triangular plot is 600 m. If the sides are in the ratio 5:12:13, then find the 

area of the plot. 
xU Kf;Nfhz tbtpyhd kidapd; Rw;wsT 600kP.  mjd; gf;fq;fs; 5:12:13 vd;w 
tpfpjj;jpy; cs;sd vdpy; me;j kidapd; gug;gsitf; fhz;f. 
Solution: 
Let the side of the triangle a, b and c be 5x, 12x and 13x 

Perimeter of a triangular plot = 600m 
5x + 12x + 13x = 600 
 30x = 600 

   x = 
600

30
 

          x = 20 
 a = 5x = 5 × 20 = 100 m 
 b = 12x = 12 × 20 = 240 m 
 c = 13x = 13 × 20 = 260 m 

 s = 
600

2
= 300 

 s – a = 300 – 100 = 200 m 
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 s – b = 300 – 240 = 60 m 
 s – c = 300 – 260 = 40 m 
 

       Area of triangle  = ( )( )( )s s a s b s c    

        = 3 2 6 4 100 100 100       

    = 2 63 2 2 3 2 10      

= 310 3 2 2    m2 
   = 1000 × 12 m2 

 `  = 12000 m2 

 Area of triangular plot = 12000 sq.m 
 

5. The length, breadth and height of a hall are 25 m, 15 m and 5 m respectively. Find the cost 
of renovating its floor and four walls at the rate of ₹  80 per m2. 
Xu; miwapd; ePsk;> mfyk; kw;Wk; cauk; KiwNa 25 kP> 15 kP kw;Wk; 5 kP MFk;.  
miwapd; jiu kw;Wk; ehd;F Rtu;fisAk; GJg;gpf;f 1 rJu kPl;lUf;F ₹  80 tPjk; nryT 
MFk; vdpy;> nkhj;jr; nryitf; fhz;f. 
Solution: 

 Here, length (l) = 25 m, breadth (b) =15 m, height (h) = 5 m.  
Area of four walls =  LSA of cuboid  

= 2 (l + b) × h  
= 2 (25 + 15) × 5   
= 80 × 5 = 400 m2   

Area of the floor = l × b  
=  25 × 15 = 375 m2  

Total renovating area of the hall  
= (Area of four walls + Area of the floor)  
= (400 + 375) = 775 m2  

Therefore, cost of renovating at the rate of ₹  80 per m2 = 80 × 775  
= ₹  62,000. 

    
15 - Marks 
 

6. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

 
A. The sum of the two positive numbers is 21 and their difference is 5. Find the numbers. 

,U kpif vz;fspd; $Ljy; 21 mt;tpU vz;fSf;F ,ilNa cs;s NtWghL 5 
vdpy; mt;ntz;fisf; fhz;f. 
Solution: 

 x + y = 21 → y = 21 – x 
 x – y = 5 
 x – (21 – x) = 5  
 2x – 21 = 5 
 2x = 26 
 x = 13 ; y = 8. 
 The numbers are 13, 8. 
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B. A verandah of width 3 m is constructed along the outside of a room of length 9 m and 
width 7 m. Find (a) the area of the verandah (b) the cost of cementing the floor of the 
verandah at the rate of ₹ 15 per sq.m.  
9 kP ePsKk;> 7 kP mfyKk; cs;s Xu; miwf;F ntspNa> 3 kP rPuhd mfyKs;s xU 
jho;thuk; (verandah) cs;sJ.  (m) jho;thuj;jpd; gug;gsT fhz;f.  (M) me;jj; 
jho;thug; gFjpf;F r.kP-f;F ₹  15 tPjk; rpnkz;l; G++r MFk; nryitf; fhz;f. 
Solution: 

Here, l = 9 m,  b = 7 m  
  Area of the Room  = l × b  

          = 9 × 7  
   = 63 m2  

L = l + 2 w = 9 + 2(3) = 9 + 6 = 15 m 
B = b + 2 w = 7 + 2(3) = 7 + 6 = 13 m  

 Area of the room including verandah = L × B  
= 15 × 13 = 195 m2 

   The area of the verandah =Area of the room including verandah −Area   of 
the room  

           = 195 − 63  
= 132 m2 

  The cost of cementing the floor for 1sq.m = ₹ 15  
 Therfore, the cost of cementing the floor of the verandah = 132 × 15 =   

 ₹ 1980. 
 

7. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

 
A. A play-top is in the form of a hemisphere surmounted on a cone.  The diameter of the 

hemisphere is 3.6 cm. The total height of the play-top is 4.2cm. Find its total surface 
area. 
xU tpisahl;L gk;gukhdJ (Top) $k;gpd; kPJ miuf;Nfhsk; ,ize;j tbtpy; 
cs;sJ.  miuf;Nfhsj;jpd; tpl;lk; 3.6 nr.kP kw;Wk; gk;guj;jpd; nkhj;j cauk; 4.2 
nr.kP vdpy;> mjd; nkhj;jg; Gwg;gug;igf; fhz;f. 
Solution: 

diameter of hemisphere=3.6 cm    ; r=
3.6

2
 cm 

diameter of cone =3.6 cm  ;  r = 
3.6

2
 cm   

total height = 4.2 cm 

height of cone = 
3.6

4.2
2

  = 2.4 cm 

slant height l  = 2 2h r  

= 2 2(2.4)  +(1.8)  

         l  = 3cm 
   TSA  = CSA of hemisphere + CSA of cone 

= 2 r2 +  r l 
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= 2 × 
22

7
× 

3.6

2
× 

3.6

2
+

22

7
× 

3.6

2
× 3 

= 37.33 cm2 
 

B. A square and a parallelogram have the same area. If the side of the square is 48 m and 
the height of the parallelogram is 18 m, find the length of the base of the 
parallelogram. 
48 kP gf;f msT nfhz;l xU rJuKk;> 18 kP cauk; nfhz;l xU ,izfuKk; rkg; 
gug;gsitf; nfhz;lit vdpy;> ,izfuj;jpd; mbg;gf;f msitf; fhz;f. 
Solution: 

side of square = 48m 

Area of square=area of parallelogram 

now, 

area of square  = (side × side ) sq.unit 

= (48 × 48) sq.m = 2304 sq.m 

hence, area of parallelogram = 2304 sq.m 

area of parallelogram = b × h sq.unit 

2304 = b × 18 

hence b = 
2304

18
=128m 

 
8. There are 12 pieces of five, ten and twenty rupee currencies whose total value is ₹  105. But 

when first 2 sorts are interchanged in their numbers its value will be increased by ₹ 20. 
Find the number of currencies in each sort. 
Ie;J> gj;J kw;Wk; ,UgJ &gha; Nehl;Lfspd;  nkhj;j kjpg;G ₹  105 kw;Wk; nkhj;j 
Nehl;Lfspd; vz;zpf;if 12.  Kjy; ,uz;L tif Nehl;Lfspd; vz;zpf;ifia ,lkhw;wk; 
nra;jhy; Ke;ija kjpg;ig tpl ₹ 20 mjpfupf;fpwJ vdpy;> vj;jid Ie;J> gj;J kw;Wk; 
,UgJ &gha; Nehl;Lfs; cs;sd. 
 
Solution: 

Let the number of ₹ 5 currencies be “x” 
Let the number of ₹ 10 currencies be “y” 
and the number of ₹ 20 currencies be “z” 
By the given first condition 
x + y + z = 12     (1) 
By the given second condition 
5x + 10y + 20z = 105 
x + 2y + 4z = 21 (÷5)     (2) 
By the given third condition 
10x + 5y + 20z = 105 + 20 
10x + 5y + 20z = 125 
2x + y + 4z = 25     (3) 
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  (1) × 4 4x + 4y + 4z = 48    
  (2) × 1    x + 2y + 4z = 21    

      (-)  (-)      (-)      (-)  
(1) – 2     3x + 2y + 0    = 27 
 

3x + 2y = 27   (4) 
Subtracting (2) and (3)  
(2)     x + 2y + 4z= 21 
(3)     2x + y + 4z = 25 

(-) (-)  (-)      (-) 
-x + y + 0 = - 4 

x – y = 4    (5) 
   (4) × 1   3x + 2y = 27      
   (5) × 2   2x – 2y =   8      

       (4) + (5)     5x + 0   = 35 

x = 
35

5
 = 7 

Substituting the value of x = 7 in (5) 
7 – y = 4 ⇒ -y = 4 – 7 
-y = -3 ⇒ y = 3 
Substituting the value of x = 7, y = 3 in …. (1) 
7 + 3 + z = 12 
z = 12 – 10 = 2 
x = 7, y = 3, z = 2 
Number of currencies in ₹  5 = 7 
Number of currencies in ₹  10 = 3 
Number of currencies in ₹  20 = 2 

 
9. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 

A. A school ground is in the shape of a circle with radius 103 m. Four tracks each of 3 m 
wide has to be constructed inside the ground for the purpose of track events. Find the 
cost of constructing the track at the rate of ₹ 50 per sq.m.  
xU gs;spapd; tpisahl;Lj; jply; 103 kP MuKs;s tl;l tbtpy; cs;sJ.  
mj;jplYf;Fs; xt;nthd;Wk; 3kP mfyKs;s ehd;F XLjsq;fs; (track) 
mikf;fg;gLfpd;wd.  xU r.kP-f;F ` 50 tPjk;> me;j XLjsg; ghijfis tbtikf;f 
MFk; nkhj;jr; nryitf; fzf;fpLf. 
Solution: 

Inner radius (r)= 103 – (4 × 3)    
Inner radius (r)= 91 m 
Outer radius (R)= 103 m 
Area of circular path =  (R2 - r2) sq units 

=
22

7
 ((103)2  - (91)2) 

= 
22

7
× (10609 - 8281)  
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= 
22

7
× 2328 

= 7316.5714 sq m 
Cost of constructing the track is = ₹  50 per sq.m 
/  total cost = 7316.5714 × 50 

= ₹  365828.57. 
= ₹  365829 (approximately). 
 

B. A sweet is in the shape of rhombus whose diagonals are given as 4 cm and 5 cm. The 
surface of the sweet should be covered by an aluminum foil. Find the cost of 
aluminum foil used for 400 such sweets at the rate of  ` 7 per 100 sq. cm. 
Xu; ,dpg;G tif rha;rJu tbtpy; cs;sJ.  mjd; %iy tpl;lq;fs; KiwNa> 4 
nr.kP kw;Wk; 5 nr.kP. ,dpg;gpd; Nkw;gug;G KOtJk;  nky;ypa mYkpdpaj; jfl;lhy; 
%lg;gl Ntz;Lk;.  100 r.nr.kPf;F ` 7 tPjk; nkhj;jk; 400 ,dpg;Gfis mYkpdpaj; 
jfl;lhy; %l vt;tsT nrythFk;? 
Solution: 
Diagonals d1 = 4 cm and d2 = 5 cm 

Area of one rhombus shaped sweet = 1 2

1
( )

2
d d  sq. units 

     = 
1

4 5
2
  cm2 = 10 cm2 

 Aluminum foil used to cover 1 sweet = 10 cm2 

 / Aluminum foil used to cover 400 sweets = 400 ×10 =  4000 cm2 

      Cost of Aluminum foil for 100 cm2  = `  7 

 / Cost of Aluminum foil for 4000 cm2  = 
4000

7
100

 = ` 280 

 / Cost of Aluminum foil used = ` 280 
  

10. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

 
A. A cyclindrical tank of diameter 35 cm is full of water.  If 11 litres of water is drawn 

off, find the drop in the water-level in the tank. 
35 nr.kP tpl;lKs;s xU cUis tbtjz;zPu; njhl;b KOtJk; jz;zPu; cs;sJ.  
njhl;bapypUe;J 11 ypl;lu; jz;zPu; vLf;fg;gl;Ltpl;lJ.  vdpy;> njhl;bapDs; 
ePu;kl;lj;jpy; Vw;gLk; tPo;r;rpiaf; fz;Lgpb. 
Solution: 
diameter = 35 cm.  

radius = r = 
2

diameter
 = 

35

2
 cm 

Initially the height of the water level in the cylindrical tank 
= „h‟  
11 litres of water is drawn from the tank 
Level of water in the tank becomes = „k‟(assumption) 

 
 The decrease in water, that is „h – k‟. 
 1 litres = 1000 cm3.   
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 Volume of water in the cylindrical initially = Volume of water left in the  tank + 
Volume of water drawn (11 litres = 11000 cm3)   
 

     

2 2

2 2

2

2

11000

11000

( ) 11000

11000
( )

r h r k

r h r k

r h k

h k
r

 

 





 

  

  

  

 

 Substituting the values: 
22

7
   and 

35

2
r  , we get, 

             (h – k) 
2

11000

22 35

7 2


 

 
 

 

      (h – k) 
11000

22 35 35

7 2 2


   

    
   

 

      (h – k) 
11000 7 2 2

22 35 35

  

 
 

          (h – k) = 
80

7
cm 

        (h – k) = 
3

11
7

cm. 

 
B. From a solid cylinder whose height is 2.4 cm and diameter 1.4 cm, a conical cavity of 

the same height and base is hollowed out. Find the total surface area of the remaining 
solid. 
2.4 nr.kP cauKs;s xU jpz;k cUisapd; tpl;lk; 1.4 nr.kP MFk;.  cUisapDs; 
mNj MuKs;s $k;G tbtf; FopT cUisapd; cauj;jpw;F Vw;gLj;jg;gLfpwJ vdpy;> 
kPjKs;s jpz;kj;jpd; nkhj;jg; Gwg;gug;G fhz;f. 
Solution: 
Let h and r be the height and radius of the cone and cylinder. 
Let l be the  slant height of the cone. 
Given that, h = 2.4 c.m and d = 1.4 cm; r = 0.7 cm 
Here,  
total surface area of the remaining solid  = C.S.A of the cylinder +   
C.S.A. of the cone + area of the bottom 

        = 22 rh rl r    sq.units 

   Now,   2 2l r h  = 0.49 5.76 6.25  = 2.5 cm 

      l = 2.5 cm 

  Area of the remaining solid = 22 rh rl r    sq.units 
       (2 )r h l r    

        =  
22

0.7 (2 2.4) 2.5 0.7
7
      

        = 17.6 
  Therefore, total surface area of the remaining solid is 17.6 cm2 


